Question 10

HSC 2001 - Personal Development,
Health and Physical Education

10  The graph shows the incidence of a lifestyle factor, for males and females combined, and

the mortality rates from a disease associated with this lifestyle factor.
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Which of the following does the graph represent?

Lifestyle factor

Associated disease

(A)

High-fat diet

Diabetes

(B)

Sun exposure

Skin cancer

©

Tobacco smoking

Lung cancer

D)

Unsafe sex practices

HIV/AIDS




HSC 2001 - Personal Development, Health
and Physical Education

Choice Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 16 16.4 13.1 5.1 4.8
B 13.5 13.7 11.4 4.8 1.6
c | 545
D 15.5 12.5 8.7 6.5 4.8
N 0.5 0.2 0.2 0.7 0
Cuestion 10

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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